HHusqvarna

Diffuser WL 8i

Item no. 535324902

Lumen output
with diffuser

\('Dz
NN

625/2500/5000 lumen
(step 1/2/3)

< () (&) (&)

220°/360° 1P20 160x207x153 mm 3609 K07 -10°to +40°C




EN Diffuser

WARNING:

. This is not a toy. Keep away from children.

. Keep away from open flames.

MOUNTING:

. Husqvarna Floodlight Diffuser is mounted with 4 screws as shown on illustration 1.
Technical specifications of screws: Socket head cap screws M3*12
Recommended torque for tightening the screws: 05Nm

lllustration 1




BG Oudy3sbop

NPEOYMNPEXAEHVE:

. Tosa He e urpauka. [la ce nasv ot geua.

. [a ce nasu oT OTKPUTU NaMbLM.

MOHTAX:

. [ncbysbopsT Ha npoxekTop Husqvarna e MOHTUPaH ¢ 4 BUHTA, KaKTO e MoKa3aHo Ha umloctpauus 1.
TexHuuecku cneundukaLmm Ha BUHTOBETE: BuHTOBE € ULMAMHAPKYHA rMaBa M3*12
MpenopbunTeNieH MOMEHT 3a 3aTAraHe Ha BUHTOBETE: 05Nm

Wnioctpaums 1




CS Difuzér

VAROVANE:

. Zafizeni neni uréeno k hrani. Uchovavejte je mimo dosah déti.

. Chraiite je pred otevienym ohném.

MONTAZ:

. Difuzor svétlometu Husqvarna se montuje pomoci 4 roub(, viz obrazek 1.
Technické parametry Sroub(: Srouby s nastrénou hlavou M3*12
Doporuceny utahovaci moment pro utahovani Sroub(: 05Nm

Obrazek 1




DA Diffuser

ADVARSEL:

. Dette er ikke legetgj. Holdes veek fra barn.

. Holdes vaek fra abeniild.

MONTAGE:

. Husqvarna-Diffuseren monteres med 4 skruer som vist pa illustration 1.

Tekniske specifikationer for skruerne: Cylinderhovedskruer med indvendig sekskant M3*12

Anbefalet drejningsmoment for tilspending af skruerne: 05 Nm

lllustration 1




DE Diffusor

ACHTUNG:

. Dies ist kein Spielzeug. Von Kindern fernhalten.

. Von offenen Flammen fernhalten.

MONTAGE:

. Der Husqvarna-Diffusor wird mit 4 Schrauben montiert, wie in Abbildung 1 gezeigt.

Technische Angaben der Schrauben: Zylinderschrauben mit Innensechskant M3*12
Empfohlenes Drehmoment fiir das Anziehen der Schrauben: 05 Nm

Abbildung 1




EL AiaxuTng

NPOEIAOMOIHEH:

. AuTd dev eival maixvibl. KparioTe 1o pakpid amo maidid.

. KpaTioTe To pakpid amé avoixTég pAOYEG.

TYNAPMOAOTHEH:

. 0 diayxutng mpoBoAéa Husqvarna TomoBeteital pe 4 Bibeg, Gmwe paivetar oty ikdva 1.
TexVIKEG TTPOBIAYPAPES BIBWV: Bideg dAev M3*12

JUVIGTWHEVN POTTA YIA TN GUGPIEN TV BIBWV: 05Nm

Eikéva 1




ES

Difusor

ADVERTENCIA:
. No es un juguete. Mantener alejado de los nifios.
. Mantener alejado de llamas expuestas.

MONTAJE:
. El difusor de foco Husqvarna se monta con 4 tornillos como se muestra en la ilustracion 1.

Especificaciones técnicas de los tornillos: Tornillos de cabeza hueca M3*12
Par de apriete recomendado para los tornillos: 05Nm

llustracion 1




ET Difuusor

HOIATUS:

. See ei ole manguasi. Hoida lastele kattesaamatus kohas.

. Hoida eemal lahtisest tulest.

PAIGALDUS:

. Husqvarna proZektori hajuti on paigaldatud 4 kruviga, nagu on naidatud joonisel 1.
Kruvide tehnilised kirjeldused: Pistikupesa peakorgi kruvid M3*12
Soovitatav pdordemomendi pinguldamiseks kruvid: 05Nm

lllustratsioon 1




FI

Diffuusori
VAROITUS:
. Kyseessa ei ole lelu. Pida laite poissa lasten ulottuvilta.
. Pida laite poissa avotulesta.
ASENNUS:
. Husqvarnan valonheittimen diffuusori asennetaan neljalla ruuvilla kuvan 1 mukaisesti.
Ruuvien tekniset tiedot: Kuuusiokoloruuvit M3*12
Ruuvien suositeltu kiristysmomentti: 05Nm

Kuval




FR Diffuseur

AVERTISSEMENT:

. Cecin'est pas un jouet. Ne pas la laisser a la portée des enfants.

. Tenir a I'écart des flammes nues.

MONTAGE:

. Le diffuseur de projecteur Husqvarna se monte a |'aide de 4 vis comme indiqué sur l'illustration 1.
Spécifications techniques des vis: Vis a téte cylindrique M3*12

Couple de serrage recommandé pour les vis: 05Nm

lllustration 1




HR  Difuzor

UPOZORENJE:
. Ovo nije igracka. Drzite podalje od djece.
. Drzati dalje od otvorenog plamena.

POSTAVLJANJE:
. Husqvarna reflektorski difuzor postavlja se sa 4 vijka kao $to je prikazano na ilustraciji 1.

Tehnicke specifikacije vijaka: Imbus vijci cilindri¢ne glave M3*12
Preporuceni moment zatezanja vijaka: 05Nm

llustracija 1




HU  bpiffazor

FIGYELMEZTETES:

. A termék nem jaték. Gyerekektdl tavol tartando.

. Tartsa tavol a nyilt langoktal.

ROGZITES:

. A Husqgvarna reflektor-diffzor 4 csavarral van rogzitve, ahogy az az 1. bran lathato.

A csavarok miiszaki adatai: Belsokulcsnyilasu tévigmenetes csavar M3*12
A csavarok meghuzasahoz javasolt nyomaték: 05Nm

1. abra




IT Diffusore

AVVERTENZA:

. Il presente prodotto non & un giocattolo. Tenere lontano dalla portata dei bambini.
. Tenere lontano da fiamme libere.

MONTAGGIO:

. Il proiettore diffusore Husqvarna & montato con 4 viti come mostrato nella figura 1.
Specifiche tecniche delle viti: Viti a testa cilindrica M3*12
Coppia consigliata per il serraggio delle viti: 05Nm

Figura1




LT

Sklaidytuvas

|SPEJIMAL:
. Tai néra zaislas. Laikykite toliau nuo vaiku.
. Laikykite toliau nuo atviros liepsnos.

MONTAVIMAS:
. ,Husqvarna® prozektoriaus sklaidytuvas tvirtinamas 4 varztais, kaip parodyta 1 pav.

Varzty techniniai duomenys: Variztai cilindrine galvute su vidiniu SeSiakampiu M3*12
Rekomenduojamas sukimo momentas verziant varztus: 05 Nm

1pav.




Lv

Difuzors

BRIDINAJUMS:
. Ta nav rotallieta. Sargat no bérniem.
. Sargat no atklatas liesmas.

MONTAZA:
. Husqvarna ProZektoru difuzors ir uzstadits ar 4 skravém, ka paradits 1. attéla.

Skravju tehniskas specifikacijas: Kontaktligzdas galvas vacina skroves M3*12
leteicamais griezes moments skrivju pievilk$anai: 05 Nm

1. attéls




NL Verdeler

WAARSCHUWING:

. Dit is geen speelgoed. Buiten bereik van kinderen houden.

. Uit de buurt van open vuur houden.

MONTAGE:

. Husqvarna Floodlight Diffuser is gemonteerd met 4 schroeven zoals getoond in afbeelding 1.
Technische specificaties van schroeven: Inbusbouten M3*12
Aanbevolen aanhaalmoment voor het aandraaien van de schroeven: 05Nm

Afbeelding 1




NO Diffuser

ADVARSEL:

. Dette er ikke et leketgy. Hold produktet unna barn.

. Holdes unna apne flammer.

MONTERING:

. Husgvarna flomlys og diffuser monteres med 4 skruer som vist pa fig. 1.

Tekniske spesifikasjoner for skruer: Senkehodeskruer med innvendig sekskant M3 * 12
Anbefalt moment for stramming av skruene: 05Nm

lllustrasjon 1




PL Dyfuzor

OSTRZEZENIE:

. Urzadzenie nie jest zabawka. Trzymac z dala od dzieci.

. Trzymac z dala od otwartego ognia.

MONTAZ:

. Dyfuzor do naswietlaczy Husqvarna jest montowany za pomoca 4 $rub, jak pokazano na ilustracji 1.
Specyfikacje techniczne $rub: Sruby z them walcowym M3x12

Zalecany moment obrotowy dokrecenia $rub: 05 Nm

Rys.1




PT Difusor

AVISO:

. Isto ndo € um brinquedo. Manter afastado de criancas.

. Manter afastado de chamas.

MONTAGEM:

. 0 Difusor de Projetor Husqvarna é montado com 4 parafusos, conforme mostrado na ilustragéo 1.
Especificagdes técnicas dos parafusos: Parafusos fémea com tampa M3*12

Binario recomendado para apertar os parafusos: 05Nm

llustracao 1




RO Difuzor

AVERTISMENT:

. Aceasta nu este o jucarie. A nu se lasa la indemana copiilor.

. A se pastra la distanta de flacérile deschise.

MONTARE:

. Difuzorul reflector Husqvarna este montat cu 4 suruburi, asa cum se arata in ilustratia 1.
Specificatii tehnice ale suruburilor: Suruburi cu cap cilindric si locas hexagonal M3*12
Cuplu recomandat pentru strangerea suruburilor: 05Nm

llustratia 1




RU Pacceusarens

NPEOYMNPEXAEHVE:

. [laHHoe yCTPOMCTBO He SBNIAETCS UrPyLIKOiA. XpaHuTe BAanM oT AocTyna fetei.

. XpaHuTe BOany oT OTKPbITOrO OTHl.

MOHTAX:

. MpoxekTop-paccensatenb Husgvarna kpenuTcs ¢ NOMoLLbH 4 BUHTOB, kak NoKa3aHo Ha puc. 1.
TexHuyeckue xapakTepucTUK1 BUHTOB: BuHTBI € r0/10BKO# Mo TopLieBoit Koy M3*12
PekoMeHyeMblit MOMEHT 3aTAXKN BUHTOB: 05 Hm

PucyHok 1




SK Difazor

VAROVANIE:

. Toto nie je hracka. Uchovévajte mimo dosahu deti.

. Uchovavaijte v bezpecnej vzdialenosti od otvorenych plameriov.

MONTAZ:

. Difuzor svetlometov Husqvarna sa montuje pomocou 4 skrutiek, ako sa znazorfiuje na obrazku 1.
Technickeé 3pecifikacie skrutiek: Skrutky so zapustenou hlavou M3*12
Odporucany krutiaci moment na utahovanie skrutiek: 05Nm

Obrazok 1




SL Difuzor

OPOZORILO:

. To niigraca. Hraniti lo¢eno od otrok.

. Hraniti pro¢ od odprtega ognja.

NAMESTITEV:

. Difuzor za reflektor Husqvarna je pritrjen s 4 vijaki, kot je prikazano na sliki 1.
Tehnicne specifikacije vijakov: Vijaki s Sestrobo glavo M3*12
Priporocen navor za privijanje vijakov: 05Nm

llustracija 1




SR Oudysop

YMO30PEHE:

. 080 Huje urpauka. [lpxaTvt Ha MecTy BaH [10XBaTa feLie.

. [pxaTv fiasbe o nnameHa.

MOHTAXA:

. Husqvarna andysop pechnektopa je MOHTUPaH ca 4 3aBpTHba, Kao LUTO je MPUKa3aHo Ha civum 1.
TexHuuke cneundmkaLmje 3aBpTba: 3aTBOPEHMU LIECTEPOYraoHu 3aBpTar M3*12
MpenopyyeHu 06pTHU MOMEHT 3aTe3atba 3aBpTHa: 05Nm

Crvkal




sV Diffuser

VARNING:

. Detta &r inte en leksak. Placeras/forvaras utom rackhall for barn.

. Undvik nérhet till 6ppen laga.

MONTERING:

. Husqvarna Floodlight Diffuser monteras med 4 skruvar som visat pa bild 1.
Tekniska specifikationer for skruvarna: Insexskruvar M3*12
Rekommenderat atdragningsmoment for skruvarna: 05 Nm

Bild 1




TR  Difiizér

UYARI:

. Bu bir oyuncak degildir. Cocuklardan uzak tutun.

. Acik alevlerden uzak tutun.

MONTAJ:

. Husqvarna Projektor Difiizor, resim Tde gosterildigi gibi 4 vida ile monte edilmektedir.
Vidalarin teknik 6zellikleri: Soket baslikli kapak vidalari M3 * 12
Vidalari sikmak icin 6nerilen tork: 05Nm

Resim 1




UK  Posciiosau

MOMEPEDKEHHS:

. Lle# npucTpiit He € irpalukoto. 36epiratv noaani Big AOCTYNy AiTen.

. 36epirati nofani Bif BIAKPUTOrO BOTHHO.

MOHTAX:

. IMpoxekTop-po3citoBay Husgvarna kpinuTbCs 3a AOMOMOr0t0 4 rBUHTIB, K NOKA3aHO Ha MasoHKy 1.
TexHiuHi xapakTepuUCTUKM FBUHTIB: BUHTY 3 FONOBKOIO Mif} TOPLIEBMIA Koy M3*12
PekoMeHA0BaHWU MOMEHT 3aTsryBaHHs rBUHTIB: 05 Hm

ManioHok 1




JA

FAT2—H—
=8
TNEBHEPTRBIFE o BFIEMEINMENKSICLTLEE L,
. BERIGEDFBEVEIICLTLREE .,
T
. BIISRT KSITNRIN=FEHEET 1 71— —Z4EDRIVN TR FET
IV O AR FRAETFERIVMA3*12
RIVSDOHEERD [ FSILD: 0.5 Nm
B




q3 8

EU Declaration of Conformity
OM version

We, Husqvarna AB, SE 561 82 Huskvarna, SWEDEN, Tel. +46 36 146500 declare on our
sole responsibility that the product:

Description Battery work light

Brand HUSQVARNA

Type / Model WL 8i

Identification Serial numbers dating from 2021 and onwards

complies fully with the following EU directives and regulations:

Directi . -
2014/35/EU "relating to electrical equipment"
2014/30/EU "relating to electromagnetic compatibility"
2011/65/EU "relating to ion of

and that the following standards and/or technical specifications are applied;
EN IEC 60598-1: 2021

EN 60598-2-4: 2018

EN 62471:2008

EN 62493:2010

EN 55015:2019+A11:2020

EN 61547:2009

Partille, 202\ - \Z -y ¥
T\ 5 .
Johan Wallin

VP After Market & Connectivity
Husqvarna AB, Construction Division

Responsible for technical documentation



UK
CA gdeme

UK Declaration of Conformity

©OM version

We, Husqvarna AB, SE 561 82 Huskvarna, SWEDEN, Tel. +46 36 146500 declare on our
sole responsibility that the product:

Description Battery work light

Brand HUSQVARNA

Type / Model WL 8i

Identification Serial numbers dating from 2021 and onwards

complies fully with the following UK regulations:

The Electrical Equipment (Safety) Regulations 2016
ic C il ions 2016

The Restriction of the Use of Certain Hazardous Substances in Electrical and Electronic Equipment
ions 2012

and that the following standards and/or technical specifications are applied;
EN IEC 60598-1: 2021

EN 60598-2-4: 2018

EN 62471:2008

EN 62493:2010

EN 55014-2:2021

EN 61547:2009

Partille, 202\ - 12 A3

Lol

allin
VP After Market & Connectivity UK Importer:
Husqvarna AB, Construction Division Husqvarna UK Limited
Preston Road, Aycliffe
Responsible for technical documentation Business Park Newton

Aycliffe, County Durham
UK DL5 6UP



&

PAP

V1/01.22




